OFEHLRAHDIR, GHSMBEFREHTIEXT S,

FH5FE12A11BH/E Eeal)

H B HZ M BB R (RAESN - ER/BA)
I—F & 2 N B fiiis | —HRimis | = 5 | &7
120|16-1 IRERBEEHETEAR I EXR) 1,800 2,000] sl =] R5.3.10
121191 EELBFEEEETEARI (1 5EH) 1,437 1,600]smui by R4.7.28
12213-1 EERBFEEEETEARLI CEER) 1,437 1,600 sl b gEs| R4.12.21
R 123|192 B4 EEEEETHA D (35XH) 1,437 1,600] s Ege| R5.11.20
124121 IEEHBEEEEETEARDI 45EH) 1,437 1,600 smut&my| R4.9.14
102)13-1 HEBEEEETHA 1,700 1,800 sl b gEst| R4.7.13
103|£5ThR29RI ZHEETE 1,900 2100)2mui @] R5.7.1
R 1041 ZREERAEE (RUhg) 1,400 1,600] s g | H20.6.30
105|6-23ThR A8 B8 3@ 5E 2,610 2,900 &=n R5.2.1
106|EERFIETIS ThhYPT LERKEEDREES 630 700] smpl bt | san24em
108|2-1 H#F ZHABZHORES 4952 5,239 mu H20.9.25
109| S 6 F R = B B R BERE 3,420 3,800 mu R5.8.10
A 110[18-25T2hk ERKEEMES (RUhd) EE1H 4,320 4800 =u R5.3.1
11| SH2FEREFREDNE 3,960 4400| =n R2.7.10
12|22 B2 2 EHEEQA 600 1,000] sl g | H28.4.1
114]1-2 2 7 # i1 755 952|smuibgme| H16.5.6
5| EREREATREY=17IL @R (SYn) 2,160 2,400|2mui | R4.3.1
& 11612 ERmESH 1,000 1,238 sl b get| H26.3.22
8| EBEICETRNEARBNIRT VY 1,155 1,800] s -] H28.4.15
125|KETHR EHRARERDOFSIE 1,350 1,500] 2/l £ 44| R3.10.15
126|65ThR EISEESiR S BB NE 1,080 1,200] smut b | H29.7.10
128A18-4 EARE X BRHBIEV\ETUIR) s 5,000 6,800 smu g4 | R4.10.26
132A)40 Z{EERBFZEAAEZHCD-ROM Verd0 2,600 3,200] szl £ #m44| R4.10.26
131]1-1 EAIREEHIFIHI0EH 1,000 1,200] s g | H20.8.29
230|16-1 {EEHEFEXEMEEERR) 1,700 1,900] smui b gme] R5.11.29
231|12-1 e BB EEEEMBEEOBSER) 1,500 1,700] sl Egt| R5.11.20
2| 232|122 R EHEEXEMELECEER) 1,500 1,700 smu &5 | R4.12.28
233|6-1 IEEHEETEMEECSER) 1,500 1,700 smu &5 | R4.10.26
1| 234|6-1 EELEEXTEMELEUEER) 1,500 1,700] s £ g | R2.11.25
235|2-1 BB DEEERI-ODHFIFENEE 1,800 2,000]smu. - mp| H22.4.6
M 236|2-1 BEEICKROONDIVTIATVAERE 1,800 2,000]smu. tmp| H22.4.6
237111 X aUF4-a oY ILAVNEERESE 2,091 2,400] 5L &g | H23.12.13
7| 240|1-1 EHEED-HDESMEE) 2,473 3,000] et £ | H25.1.29
241|1-1 Z{EE D1-H DESH(DVD) 3,473 5,000] 641 £ 4| H25.1.29
| 24211 BB DO DESM (YR 5,709 8,000fstyrit L] H25.1.29
238|2-1 HAIETHA MBEHEBRBR(EZR) 1,419 1,732|smutme| R3.6.28
Tl 239|4-1 MR LB EF 2RASEERIEE(1005) 1,400 1,800 smu -&s| R5.4.22
249|4-1 MBERFEBOF5I(HER) 2,000 2,190 smu. g4 | H30.1.31
JU|  250|5-1 R EREBOFEI(LELR 2,091 2,286 5muL @y | RIT.12.24
251|12-1 MR EHEF2REEEREE(2007) 2,400 2,800 smu1 4| R5.7.20
252|6-1 3 PAE(H £ 751 RIS RIRE S (200R0) 2,400 2,800]smuit=m| R2.5.27
253|14-1 ZREBELAELLEHR) FETIR 1,800 2,000]5mu1 | R4.3.3
254|7-1 B EEEHAGE - HRR) FETR 1,900 2,000] sl @] RIT.9.17
B 255|9-1 ERELBFLHARGERMR) FEThR 1,900 2,000] sl = | RIT.9.26
V| 256|1-1 B ERELRARCERR) PR 1,900 2,000] s by | H18.7.7
| 257|2-1 ZiEELREBAMERR) TR 1,900 2,000]smpi @] R2.4.1
258|1-1 SR E 58 1,755 1,900 sl b | H13.1.31
259|2-1 ERMKEEE 1,800 2,000] 5L -] H28.4.15
260[2-1 ERMBFELMER 1,755 1,905|smu t@mu| H2257
B  261|6-1 W EEE BT MEE BHREMD) 2,000 2,200] sl tmyt| R4.4.15
Ul 262l1-145 v TRSED T KBS D2EN30)] 455 800| smu1 x| H27.8.20
|  263|4-1 BE & - ZMELER RIS BRI EE(250/) 2,400 2,800 smu1 @] H31.35
264|8-1 HE & - RFLERR 2 ARIE SR R REE (250R) 2,400 2,800 sl &p| H30.1.31
265|1-1 HAEEHA B mERZEHAR(LZR) 1,419 1,732] s Eget| H31.2.27
266|3-1 &5 FEIRZ 2 AR RIRESE(100R) 1,400 1,800] sl £ 44| R3.10.26




1—F I 2 e & fiiis | —hRmis |k 5 | &<
200|12-1 BB EZHEBOF5I(WHR) 1,900 2,190]smui =] R3.4.20
201|5-1 RBFEZEHEBFOFSI(LER 1,810 2,000] smu1 4| R5.1.21

¥l  215]18-1 EFHEHEB2BIZHIFRES (2007) 2,400 2,800] sl Emy| H29.8.9
X| 205|3-1 RBFEEMEB2BRIEEEREE00R) 1,400 1,800]smui | R5.9.21
B2 20471 REFEEHEER RIS EERIREE(2007]) 2,400 2,800|smu1 | R5.4.18
BNl 202|121 MEEREHREHFDOFSIHHR) 2,182 2,381 |5muL g | H30.1.31
Rl 203|8-1 MEERZEMEBDOFEI(LRK) 2,182 2,381 |s5mu | R3.4.20
214|15-1 MEERE R EF2RESERIRESE (200/) 2,400 2,800] smu 4| R3.10.26
207|6-1 MEER Z £ 75 2 AR EERIREE (100RS) 1,400 1,800 smu -&x| R5.9.13
208|9-1 3% 2 2 75 1 fRAE SR R RE £ (200R8) 2,400 2,800] sl &g | R3.11.24
209|11-1 Z{FEE w1 (B6¥) 1,400 1,900] 1muitme | R3.4.14
21041 $FRIET LR X BFEEHEBR2REZR) 1,419 1,732 smuitmy| R3.12.10
211|131 FRIBE B LR MR EHEH2REER) 1,419 1,732|smut&mu| R4.4.27
285 | ML REBDF I 564 762] s bgmp| H18.9.20
SI| 286\ MHZREBRDFSI 1,800 2,000] 5. g | H18.10.30
28721 RREHREBDFSI 1,000 1,200] st b g | H26.11.7
289|2- 1 R BF B EHEBDFEI 1,400 1,600] smul b | H26.3.22
291| BB EFBEHBDFEI 1,600 1,800]smu tamsp| H19.7.3
| 2792 1R EREBEDFSI 1,800 2,000 smuL mp4| H26.5.24
288|3-1 EHIFAEICLDEBRMERZHES 1,800 2,000 smu1 | H29.7.18
293|12-4 ZEE XD (125T44R) 2,755 3,000]smu1 4| R5.8.10
423|ZEFIR 855 1,000 = % H20.11.1
& 424|ZHFR /AN E-HRIK) 100ffLLE 10,000f 10,000] = = -
425|ZEFIR #HRAN (EFHIRIK) 100 UL 5,000 9000] = = -
537[1-1THIBHREEE) MF 946 1,048 smul b ] H21.12.16
539|1-1T/ME- RYEIR1EESE) MF 1,046 1,143 smui tmp| H22.11.25
Bl b540|ZpzxBnE HbhYDOITUFEE 2,286 2,600 s g | H24.12.3
541|5-1 £XaUT1- TS5 +—BBHRKRIFE1E] 5,182 9,400 smu1 £ #44| R3.10.26
542|5-1 £X 2T TS5 F—BBHKR[E2E] 2,182 2,200] sl =54| R3.10.26
538|4-1 £¥aUT1- TS F—EEMEE 2,091 2,400|smu 54| R5.6.24
550[3-1 ¥ aTq-av YA EREHRARE14] 4,755 5,400 smui @ | RIT.10.1
551[3-1 +¥ 1) T-avH LAV M EBHA[F25] 2,755 2,800] sl t&m| RIT.10.1
03| EHEBLLERE 791 1,000] smu e | H28.7.27
304|F —7—RI(F71VA74—HR) 1,200 1,90021mui £ H9.10.13
2| 309|tz¥aUT4-<¥=27FJLNo.l 1,000 1,200] smui b | S61.2.20
310|€F1FT4- =27 J)LNo.2 1,191 1,400] smul L] HIT.3.10
311|eF2)T4-<=27J/LNo.3 2,091 2,190|smul tme| H9.6.17
312| ¥ T4 <=27I)LNo4 2,091 2,190 smu b gmp|  H7.4.1
313| ¥ 2T ¥=27JLNo5 2,282 2,381 | 5muL @] H12.12.20
403|ZiHE L ERMK (3ot yh) 528 600] = =
405|2F ) T4 321 L ( A%) 728 7128 = =
407\ a)T481 L (RO B HKEES) 1,455 1455 = =% R5.11
409X 2 T484 L (1 EBEH) 9,091 9,091 zmia
M|RE-RULEHEDERICHITTERXE) 3,900 4300] = = H22.4.6
421|security eye 455 600 700 = = H20.3.20
%| 422|SECURITY HANDBOOK 255 300 = =& H25.11.1
431 |BHEAR RS /—F 500 1,000 1m215m | H26.11.12
M| X2 )TA8A LRSIV E— 1,428 1,714] = =
Malxy54E> 3R) Bt 1,164 1457 = %
43| BAE (EE) &R 1,164 1,457 = &
45|45 (SR) &iEFA 1,164 14571 = =&
MNIROBAEV (&) LHR 1,455 1,749 = %




K = 2 e & fiiis | —hRmis |k 5 | &<
432|984 E > (£&)2015 1,400 2000] = = H27. 5
Z 433|958 1E (8R)2015 1,400 20001 = = H27. 5
426\ X)) T4 TS5+ —1\wP (SP) 1,137 1,300 = =%
427X F4-a Y I)LEURNYT (SC) 1,137 1,300 = =
428|E > /3w¥ AJSSA (7'1b-) 473 800] = =
429|E /32 AJSSA (471)-Y) 473 800] = =&
430|213y AJSSA (1VY) 473 800] = =
435\ x ) T4 TS5 ——IL  1Y—F508K (541 1,000 1,000 = %
442| X2 ) T4 AU HILEU R — L1 P50 (511t 1,000 1,000 = =&
4368 EAN—TRIVY-L) RAE— 555 700] = = H28. 5
437|ABRAA—TRYI-N) SART )L— 555 700] = = H28. 5
7l 438 ABAN—TEYI-L) EVY 955 700 = = H28. 5
A3 ABERAN—T(IVY—)) KT 555 7001 = % H28. 5
440 A BRAN—DRYI-I) 4 500&KLLE 537 680] = = H28. 6
A ABRRD—DRYI-I) 4% 1000&LLE 528 671] = = H28. 6
244|5)yTF=R—h— 900 1,200 = = H25.6.7
245|5')— < —H—F7HK74) 700 900] = = H25.6.7
246|5)—>2—Hh—7 I-) 700 900] = = H25.6.7
247|5) —o=—H—(TY) 700 900] = = H25.6.7
248|5")—o < —H—FLYY) 700 900] = = H25.6.7
245-1 |9y T - x—h—t v AE7ET4}) 1,500 20001 = = H25.6.7
2461 |9y T - v—H—t YT Ib-) 1,500 20001 = =& H25.6.7
247-1 |9y T - v—h—tyMIvY) 1,500 2000 = = H25.6.7
248-1 |9y T - x—h—HyrALIY) 1,500 20001 = = H25.6.7
410|AJSSA 9T 774 IL(Xv795—11) 91 93] = = R3.4
450|AJSSA T (fif) M 1,200 1,204] = % H30.5
451|AJSSA TS v (flifR) L 1,200 1204] = % H30.5
452|AJSSA T v (i) LL 1,200 1204] = =% H30.5
2| 453|AJSSA T v (i) 3L 1,319 1,364] = = H30.5
454|AJSSA T (fitfR) 4L 1,319 1364 = % H30.5
455|AJSSA RELA YU ROL v (Fi) M 1,573 1,976] = % H30.5
| 456|AJSSA RELAHLROL v (HE) L 1,573 1,576] = = H30.5
457|AJSSA RELHE D RO v (Fif) LL 1,573 1,976 = % H30.5
458|AJSSA REVA I RO Y (fitf) 3L 1,910 2000] = = H30.5
1%  459|AJSSA RALA I RO Y (Hi) 4L 1,910 20001 = = H30.5
460|AJSSA R— LR 2B —T R (PO =)L) 491 o000 = = RJT.6
420|AJSSA Fru T (Av-ryya) H4AT LL/3L 2,600 2800] = = H28. 11
434|AJSSA #uH-ARTVT 9555 2| = = H29. 7
544|RZ £ L{EFEDVD £6% 91,427] 135906| = #
544-1|R & LIEHEDVD (F1%) 16,1901 29,049| = u
E| 544-2| &£ LIEFEDVD (5E2%) 16,190 29,049] =
544-3| R £ LIS$EDVD (E3%) 16,1901 29,049| = w
| 544-4| R £ L1E4EDVD (554%) 16,190] 29049| = w
544-5|2 & L{EFEDVD (E5%) 19,048] 33,906 &= u
544-6|R £ LISHEDVD (F6#) 19,048] 33906|] =
507|8iF SN2 EEEDVDE2E 26,667 43619 &= u
507-1| SN BZHEDVD (E14) 21845 24190 &= #
507-2| SN S ZHEEDVD (E2%) 21,845 24190 = u
545|I UG TYRA—F B EF i1 IDVD (1) 8,971 13,000 = #
502|3 B FEZH1ADVD £6%4 82,524] 106,797 = %
502-1 | BFEZH1MDOVD (E14H) 16,505 19,418 —520m
7| 502-2|33 @ EZ 1 #RDVD (F2%) 16,905] 19,418| —##520M
JU| 502-3|REFEEH 1#kDVD (53%) 16,505 19,418 —z520mM
A| 502-4|3BFEBE R 1#KDVD (5E4%) 16,505 19,418| —520m
502-53 @ FEZH 14kDVD (FE5%) 16,505 19,418 —#520m
502-6|3 B FEEH1#DVD (£64) 16,505 19,418 —z520mM




K = 2 e B fiis] —HRmis | x5 | &<
522|$T S AKEDVD 26% 118,095| 1476191 = %
522-1|FEHEEHEDVD (E1%) 24762 31429 = #
522-2| 1 EREHKEDVD (F2%) 247762 31429 = u
522-3|FEEEHEDVD (E3#) 247621 31,429 =
& 522-4|FHEHBELKEDVD (F4%H) 247621 31,429 =
522-5| T EHEKEDVD (E5%) 24762 31429 = u
522-6| T EREHKEFDVD (E6%) 247762 31429 = #
523-1|XBHEZHEFE2MBOVD (F15) EBR 19,048] 24,762 &= %
£| 5232|308 FH L HEH2MOVD (F2%) ERR 19,048 24,762 =
524-1 | BAE HE£ H24R0VD (5 15) EH1E 19,048] 24,762 = #
524-2| M S E £ H24R0VD (F2%) EHE 19,048] 24,762| = #
525-1|EER E(E £ 7528 DVD (5 15) EH iR 19,048 24,762 & #
525-2| R EiEFH2MDVD (F2%) EH iR 19,048] 24,762 &= %
526| % i % #5244 35E# 1DVD (14) SRR 19,048] 24,762] = »
528|I FIRZIR1EEFEIDVD (£ 1) 15,238] 18571 & %
3I| 530|2-1 Bt R E R BERELEDVD(£18) ¥HiE 14,000 20,000]4#%<440m| R4.3.24~
18|  532|-1 Bt 2R ESREREXEDVD(£15) ¥HHRE 14,000] 20,000|45%<s40m| R4.6.1~
E| 534|-1BfEtRRERFERSLEDVD(£15) ¥HE 14,000] 20,000|4%%<s40m| R4.12.16~
E| 536|-1BEeppEERa%E - HEEOVD(2 1) %8| 12,0001 18,000]4sxca40m| R3.7.19~
553|211 F -3 LA RDVD(E 1%) 1,710 3,000]as%cas0m| H24.7.6
2| 5461 1RBFEZHEEH1HROVD (£18) EBIR 16,000 20,000]ss%x<370m| H23.4~
| 547|113 B TE1RDVD (£ 15) Bk 16,000] 20,000]4%%<370m| H23.4~
|  548|2-3iEER R EF1MRDVD (£1£) KETHR EER 16,0001 20,000|45%<370m| R5.1~
54911 2B XK B 1/RDVD (£145) EHiR 16,000 20,000|ss%<370m| H23.4~
K| 600|3@/INRiE SH4ERR 3,960 4400 = R4.12.26
B 604\ Fmk21 b ERKEED RS 857 952 & 3 | H21.12.21
605| H18% /R EVa7ILT—% 2,070 23001 = H20.4.11
700|FE#RE SFN5EM 7,740 8,600] 440 R4.12.15
F| T05|65BEEFREDIONDAE-ELHIE 1,620 1,800 330 H25.6.20
07| BEEEE ARV BEEEE15R) 1,800 2,000 165 H28.4.10
08| AEEBERBRALENEE (E75) 1,800 2,000 165 H27.6.30
B 709|\SRAUN —BiSEBIETELD— 1,350 1,500 165 H31.4.25
TO|SHSEREE L Y RETE 13,5001 15,000 330 R5.8.25
T EHSERES LY RE2E 13,5001 15,000 330 R5.8.25
E 7T12|SHSEREE LY REIL 14,4001 16,000 330 R5.8.25
3| SHSEREE LY RFE4E 11,7001 13,000 330 R5.8.25
T4|70RERROER -E2RE 1,800 2,000 165 R3.11.25
S| 716|SHSER HERBRFELZHEIREI—/—L 2,700 3,000 165 R5.5.15
7| SF5ER 8 - tt SERRERR &/ — 1,710 1,900 165 R5.5.15
T18|RIE/ S —h A LHEE D LR 1,080 1,200 165 H27.3
To|ZHIBM A 2L ETE E-SH-BHE 1,800 2,000 165 R5.3.20
T3P BEFLOVSLNVEERR 1,800 2,000 165 H21.2.20




K = 2 e & fiiis | —hRmis |k 5 | &<
800| B EHEHE (215 16,200 18,000] #pmy | mprz
801|& B AR B3 Ri% (R5.7TAMITHUNER) E314R 1,440 1,600] 13300 R5.8
82| RENMARIHET=2TIL 4,050 4,500] 1gaoom | H21.2.6
803|{E A 155 IRE/ R D v (IR =) 9,000 10,000] sz | AoBR=

Z| 804 MRMHRELRE -ROLNUFT o) 10,800] 12,000] szpgms | soBe=X
805|[KDRAYE BEEMIIR (MBEFEXNS) 28,571 - - -
806|[KDRAYE AERTIR (RESEXS) - 47,619 - -

D 807\ EHEA—LR—UHBRY—E R 98,000] 118,000 - -
808|I B B HPRAR - EEERI2FADH 60,0001 60,000 - -
812| BT AR ATHAENES 2,340 2,600] 1sr460M -

ftt]  813|GERI A A AT REFFHA(E10kR) 4410 4900] 1#a60m R5.4.1
814|ZHE8 R -BERTYNIYY 198 220| ##=# | H28.10.31
816|SFAELRINAXERDEZ T IDK 1UEXHI 2,520 2,800] 1#410m R4.7
S17|(BRETHR) A X RN E | &4l 3,150 3,900 1sr460M R5.6.1
820|EE A5 - EEGERABLEERYIVNMNRESE 1,667 1852 = =% H28.3.11
830| 7 A Z/N—F R (FAANYH3{AF) RAE—(S) 6,273 7,200] 1n28 & ffitg 1 5 M Lk F
831| 7 A RN—RR (FARNYY3ME ) RAE—(M/L) 6,273 7,200 fn%e 8 fitg 15 ML
832| 7 A RN—F R (FAANy) 3B F) A E—(LL/3L) 6,273 7,200| 1ng8 & kg1 75 M Lk

| 833|FARN—RR(FAANYIHE) RAE—(XL) 6,273 7,200] 1n%8 8 kg1 75 M Lk
8347 A RIN—F R (FAANY)3MB4F) TIL—(S) 6,273 7,200] 1n28 8 ffitg 1 5 ML E F

W 835|7ARN—FRR(TAANY)3ESR) T IL—(M/L) 6,273 7,200 fn%a 8 fits 15 F L
8367 4 R/N—F R (FAANy)3ME ) T JL—(LL/3L) 6,273 7,200 588 8 ffitg 1 5 MLk s

T| 837 FZARN—=RA(FAANYI3ET) T IL—(XL) 6,273 7,200| 1n28 & kg1 75 M Lk
8387 A RN—F R (FAANy)3MEH) H'L—(S) 6,273 7,200] 1o%8 8 kg1 75 M Lk

| 839 TFARN—RR(FAANYIIEF) T L—(M/L) 6,273 7,200] 1n23 8 ffitg 1 5 M@ LLE F
840| 7 A Z/N—F R (FAANYH3{EF) 5 L—(LL/3L) 6,273 7,200] 1n28 & ffitg 1 5 M LLE F
84T A RN—F R (FAAN 3B ) T L—(XL) 6,273 7,200 588 8 ffitg 1 5 MLk s
8427 A4 RIN—F R (FAANY)3MB ) TS59% (S) 6,273 7,200| 1n28 8 kg1 75 M Lk
843| 7 A Z/N—F R (FAANY3MEF) T5v4 (M/L) 6,273 7,200| 1o%8 8 ks 1 75 M Lk
844| 7 A RN—F R (FAAN 3B ) TFv4(LL/3L) 6,273 7,200] 1n28 & ffitg 1 5 M LUk F
845|7 A RN—R R (FAANy)3MEH) T 5% (XL) 6,273 7,200 fn% 8 it 15 ML
846|337 A R/ v (3Et V) 1,182 1,714] mB g FrALEEY
847|#BI AN ST 455 600] msE & i1 5 AU EER
848|7 4 Z/IN—F A (74 ANy)3{EFt) 3007 LA E 6,250 7,200 i3
849| 7 A RIN—HR R (FAANy)3ME{T) 30019k LL E 1,050 1,714 i3
850|NEWF £ AN—%R1=74—h R AFIE ) A E— (71 6,819 8,200] s 8 ifiss 1 5 AL L
851|NEWF7 A AN—4R1Z74— L (R AFISE ) =T A+ (71 6,819 8,200 fn%a & ks 175 M Lk

EESEE -HMEEEN v (@i

BEHEEREERE \vD(1E5~45) 1,237 1,237] = &

BHEZEEREEE \YD 1,237 1,237] = =
SHSE12A118RAE FAl

RIENYY ik

RE-ME-EE-EER - R AAYD 1,200 1,200 = =

RoE-HEE-E - EE R -2 \YY 955 955| = =

FH5FE12A11BHE il




